11.3 HW Solutions

For Exercises 1-3, sketch the graph of the function.
1. y=x2+2x+2
2. y=x'—dx+2

3. y= -2+ -3
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For Exercises 4-6, find the vertex of the function and determine
whether it is a maximum or minimum.
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7. Consider the graph of y = 22 — 4x + 1. Before graphing this
function, use the observations you made about graphs of ) A Wttt i h Jo
quadratic functions in the Investigation to answer the questions a MPwa‘r S Ince a lg POSI
in Parts (a) —(d).
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. Does the grapl ward or downward? Explain how yo = ,‘ = .
a kl?;; e graph open upward or downward? Explain how you b\ X fa i} W ’@_\ ,_‘,(}),‘,\ \,e{ ( ‘—3\
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quadratic functions in the Investigation to answer the questions T T R r =Tt

in Parts (a)—(d). 2
a. Does the graph open upward or downward? Explain how you b\ X o j- 7(9_\ T ,_‘,(}) Y \

know. \‘j \[ef-\-e)( (2_ ) "3)
b. What are the coordinates of the vertex of the graph? Is it a 2(_0 = _3

maximum or minimum? Explain how you know. X =2 5 =
c. What is the equation of the axis of symmetry of the graph?
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8 a. Without graphing the functions y = 2x* + 3x + 6 and = ZX "' 3)(. {"U \[G D == 3 Xa. “"Q—X“’(I
y= =32+ 12x + 6, predict how they differ.
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9. A model rocket rises vertically so that its height h above the a)
ground (in feet) is given by h = — 162 + 300t, with time ¢
measured in seconds. X: ‘_kz MAY-'VV\M'M he‘ H b) h‘; ’\ l’(q L\’ "'mq('l
a. In how many seconds after the rocket is launched will it reach
its maximum height? Zﬂ IS{M Chld a »\,/’\\' ' L"D‘ﬂ ‘A’;
b. What is the maximum height that the rocket will reach before it ) r
begins its descent? X" —300 QPPW q +£€C %
1
2(-\0) MAYImuum hagl«
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10. Many functions have graphs that are transformations of graphs of
sim_plcr ﬁ11wctjorls. For example, the graph of y = % + 3 is a vertical a\ ‘W\-& rﬁPh /] b) +h@ Y‘a h /)(l
shift of y = x* upward by three units. For Parts (a)—(d), compare the
graph ofqthc given function to the graph of y = 2% th ﬁ—fd dl/w Nn Uhits Y € CO‘TCd Nex -mo
a. y=x2-2 b. y=—a Y"ﬂ% LS
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SHNPIET TUTICTIONS. FOT EXAITIPIE, TIE grapi ur if = X~ + 515 d Vernddl
shift of y = x? upward by three units. For Parts (a —(d), compare the
graph of the given function to the graph of y = 2%,

b. y= —x2

a. y=x>-2
d y=@x+5>+4

¢ y=(x—23)7*

11. Compare the graph of the given function to the graph of
y = 2. Let ¢ be a positive real number.

b. y=(x+¢?

dy=x>—c

a. y=(xr—o?

c y=x>+c
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